
Installation Instructions—Racingline Ypipe 10077M/10077A

Included Items
– 1 Ypipe           -2x 10 mm nuts            - 2x 10mm bolts
– 4x washers

Tools Needed:
- 16mm socket 
- Ratchet 

1. safely raise and support the vehicle
2. Remove 6x 16mm nuts ( 3 on each of the front pipes)

3. Remove 3x 16mm bolts on the pipe support bracket
4. Remove 2x 4mm nuts at rear of pipe

5. line up pipe and place gaskets and/or use COPPER RTV 
gasket sealer to ensure no leaks occur

6. Use supplied 2x 10mm bolts tand associated harware 
to complete install of rear section.

These instructions are also available Online in full color @ www.RacinglinePerformance.com 

http://www.RacinglinePerformance.com/
http://www.RacinglinePerformance.com/
http://www.RacinglinePerformance.com/

